EERSNTREZIVEIANEREENRERERRAESNR

s N AR
1~ BRAESSRHE ?

& X 4 & |5 otk
EHA (FEE 5 14.29%
& 24 68.57%
AN 6 17.14%
Ea A (R 0 0.00%
EIREWN 0 0.00%
Al 0 0.00%
b = 8 2 2 5 0 0.00%
KBRS M 0 0.00%
aat 35 100.00%

2~ AIREE - BHE R

& X AEE
N 0 0.00%
e 0 0.00%
Fiid 0 0.00%
HHHsE 0 0.00%
(Elite 0 0.00%
[Eilise 0 0.00%
kit 3 8.57%
FH 1 2.86%
H 0 0.00%
=i 1 2.86%
= 3 8.57%
e 0 0.00%
1~ H% 3 8.57%
Gt 1 2.86%
N 0 0.00%
15 0 0.00%
PN 1 2.86%
i 2 5.71%
Editd 1 2.86%
Z 0 0.00%
FHE 0 0.00%
biiud; 4 0 0.00%
i 1 2.86%
SR 0 0.00%
TER 0 0.00%
Bt 1 2.86%
iallite 1 2.86%
Wit 0 0.00%
st 2 5.71%
HR 0 0.00%
HIHsE 1 2.86%
JreHsE 1 2.86%
[ 4 2 5.71%
R 1 2.86%
ENid 0 0.00%
EF R 2 5.71%
P 1 2.86%
Pk 0 0.00%
Z R 0 0.00%
L 1 2.86%
[ESiks 1 2.86%
Tk 1 2.86%
Gl 2 5.71%
SR 1 2.86%

ARt EChe! 0 0.00%

=rikan 4 35 100.00%

BRI
1~ TESAEE  ARHEARSIEE? 8~ MELERWEAN » REERRE
ClES T EE A $Z‘% E)Bﬁfﬁﬁm@?ﬁﬁ&%iﬁ%
RIS A 20.00% E % TGS ER e
e =DNCHE ! 0.00% FEE RSy 0 0.00%
FFET 0.00% R 24 68.57%
& B 35 100.00% S 11 31.43%
RIS 0.00%
2~ HSERR R R R AL A RERRE R A ? JEER Y 0.00%
EE G H 4 K FEIR 0.00%
JEH 4T 1 2.86% et & 35 100.00%
R4 21 60.00%
& E 13 | 37.14% 0 - MBMERE - REERES
$ \ ,ﬁ? 0 0.00% BE)REMETRER TS K
JEE R AT 0.00% FriBSe$a Bk EIER HIRER] 2
FKFR 0 0.00% & X 1as H 4y tb
& a1 & 35 100.00% FEE Sy 0 0.00%
RFETr 22 62.86%
3 REEREBEEBE) ST HLERHE? S| 13 37.14%
EE- 4 e | B NF5y 0.00%
HENF B E 12 34.29% JEEAR Sy 0.00%
BEIEL05T 8L 23 65.71% E NN 0.00%
JEIE10ZE 304 5 0.00% T 35 100.00%
JEIE30% 6047 5 0.00%
BEIE605T#E DL _E 0.00%
KER 0.00% 10 ~ FHLHAB A ABREREM
& B 0 B 35 100.00% B?
EE- 8 ERalse
C B RREE (REBEE)NHE JEE R 0 0.00%
%%Fﬁﬂﬁ ? SR 30 85.71%
EE- as i =P e ey 5 14.29%
JEE AT 0 0.00% R 0.00%
] 4F 19 54.29% FEERRE 0.00%
A3 16 45.71% * £ 0.00%
K47 0 0.00% EEt ¥ 35 100.00%
JEHEAREF 0.00%
KER 0.00% 11 ~ FETHARZENREERES
R INE 35 100.00% R ?
E £ F8 H 57 bk
- ERABREE (BEEBFE) BE IEH R 0 0.00%
m@’ﬁ REEEARR RS ? S 31 38.57%
E £ s =) R 4 11.43%
I 0 0.00% RO 0.00%
W H 24 68.57% JEEARRE 0.00%
] 11 31.43% &= 0.00%
RERE 0 0.00% & et & 35 100.00%
JFEARE 0.00%
ENECIN 0 0.00% 12~ FHLHAZERTRBERER
& =t {q: 2 35 100.00% EREWE?
EE- 8 H 4yt
6 BREE(RESHEE)EAGE@)E JEH R 0 0.00%
BHhREALENRT ? R 31 88.57%
EE- 8y EEs) ey 4 11.43%
RS 35 100.00% R 0.00%
H Hiﬂf ﬁ-i ; 0.00% JEERRE 0.00%
HEFE8EE FNECIN 0.00%
SERIGEET 0.00% &t 35 100.00%
R %1 0 0.00%
*F£oR 0.00% 13 - BHAHAE B THELDEN
& 5 8y 35 100.00% BN - EREEREHWE ?
EO=E F8 Egen
;ﬁ *ﬁ;{f’ (gﬁf;i‘%’é’ ) & (3D IEH R 0 0.00%
58 BRI REES S 32 91.43%
= i .
R BEERANE ? e 3 8579
L | B e 0.00%
JEE TS 0 0.00% JEERRE 0.00%
Ry 20 57.14% * %5 0.00%
S 15 42.86% et # 35 100.00%
R75y 0 0.00%
3!?‘%‘?*?6% 0.00% 14~ 110F 1 AEEFEERIL 35 & -
K FER 0 0.00% 5-FAAEEAEMEBER 4 -
& Et 1 B 35 100.00%




